

1.  $xy' - y = (x+y) \ln \frac{x+y}{x} \quad | :x$

$$y' = \frac{y}{x} + \left(1 + \frac{y}{x}\right) \ln \left(1 + \frac{y}{x}\right) \quad (1) \quad \frac{y}{x} = z \Rightarrow y' = z'x + z \quad (1)$$

$$z'x + z = z + (1+z) \ln(1+z) \quad (2)$$

$$\frac{dz}{(1+z) \ln(1+z)} = \frac{dx}{x}$$

$$\begin{cases} \ln(1+z) = t \\ dt = \frac{dz}{1+z} \end{cases}$$

$$\frac{dt}{t} = \frac{dx}{x} \Rightarrow \ln|t| = \ln|x| + \ln C$$

$$\ln(1+z) = xC \quad (2)$$

$$\begin{cases} 1 + \frac{y}{x} = e^{xC} \\ x+y = x e^{xC} \\ y = x e^{xC} - x \end{cases}$$

$$\ln \frac{x+y}{x} = xC \quad (1)$$

Σ: 8u

2.  $y''' - 2y'' - y' + 2y = (6x+8)e^{2x}$

$$k^3 - 2k^2 - k + 2 = 0$$

$$k^2(k-2) - (k-2) = (k^2-1)(k-2) = (k-1)(k+1)(k-2) = 0$$

$$y_h = C_1 e^x + C_2 e^{-x} + C_3 e^{2x} \quad (2)$$

$$y_p = (Ax+B) \cdot x e^{2x} = (Ax^2+Bx) e^{2x} \quad (1)$$

$$y_p' = e^{2x} (2Ax^2 + 2Bx + 2Ax + B) = e^{2x} (2Ax^2 + 2(A+B)x + B)$$

$$y_p'' = e^{2x} (4Ax^2 + 4(A+B)x + 2B + 4Ax + 2(A+B)) = e^{2x} (4Ax^2 + (8A+4B)x + 2A+4B)$$

$$y_p''' = e^{2x} (8Ax^2 + (16A+8B)x + 4A+8B + 8Ax + 8A+4B) = e^{2x} (8Ax^2 + (24A+8B)x + 12A+12B)$$



$$e^{2x} \left[ (8Ax^2 + (24A+8B)x + 12A+12B) - (8Ax^2 + (16A+8B)x + 4A+8B) + (2Ax^2 + (2A+2B)x + B) + (2Ax^2 + 2Bx) \right] = (6x+8)e^{2x}$$

$$x^2: 8A - 8A - 2A + 2A = 0$$

$$x: 24A + 8B - 16A - 8B - 2A - 2B + 2B = 6$$

$$6A = 6 \Rightarrow A = 1$$

$$8A + 3B = 8$$

$\Sigma: 84$

$$x^0: 12A + 12B - 4A - 8B - B = 8 \Rightarrow B = 0$$

(2)

$$y_{op} = C_1 e^x + C_2 e^{-x} + e^{2x}(C_3 + x^2)$$

(1)

$$(3) \quad \frac{dx}{x^2+1-yt} = \frac{dy}{xt+xy} = \frac{dt}{xt}$$

$$\bullet \frac{dy}{t+y} = \frac{dt}{t} \Rightarrow \frac{dy}{dt} = \frac{t+y}{t} \Rightarrow y'_t = 1 + \frac{y}{t}$$

$$\left( z = \frac{y}{t} \Rightarrow y' = z't + z \right) \quad z't + z = 1 + z \Rightarrow \frac{dz}{dt} \cdot t = 1$$

$$dz = \frac{dt}{t}$$

$$z = \ln|t| + C_1$$

$$y = t \ln|t| + C_1 t \Rightarrow C_1 = \frac{y}{t} - \ln|t| \quad (3)$$

$$\bullet \frac{dx}{x^2+1-t^2 \ln|t| - C_1 t^2} = \frac{dt}{xt} \quad (1)$$

$$x'_t = \frac{x^2+1-t^2 \ln|t| - C_1 t^2}{xt}$$

$$x' - \frac{x}{t} = \frac{1}{x} \left( \frac{1}{t} - t \ln|t| - C_1 t \right) \quad \left( \begin{array}{l} \check{z} = x^2 \\ \check{z}' = 2x x' \end{array} \right) \quad (2)$$

$$\check{z}' - \frac{\check{z}}{t} = \frac{2}{t} - 2t \ln|t| - 2C_1 t$$

$$\check{z} = e^{\int \frac{2dt}{t}} \left( C_2 + \int \left( \frac{2}{t} - 2t \ln|t| - 2C_1 t \right) e^{-2 \int \frac{dt}{t}} dt \right) =$$

$$= t^2 \left( C_2 + \int \left( \frac{2}{t} - 2t \ln|t| - 2C_1 t \right) \frac{dt}{t^2} \right)$$

(2)



$$\begin{aligned} \bar{z} &= t^2 \left( C_2 + 2 \int \frac{dt}{t^3} - 2 \int \frac{\ln|t| dt}{t} - 2C_1 \int \frac{dt}{t} \right) \\ &= t^2 \left( C_2 - \frac{1}{t^2} - \ln^2|t| - 2C_1 \ln|t| \right) \quad (2) \end{aligned}$$

$$= C_2 t^2 - 1 - t^2 \ln^2|t| - 2C_1 t^2 \ln|t|$$

$$\begin{aligned} x^2 &= C_2 t^2 - 1 - t^2 \ln^2|t| - 2 \left( \frac{y}{t} - \ln|t| \right) t^2 \ln|t| \\ &= C_2 t^2 - 1 - t^2 \ln^2|t| - 2yt \ln|t| + 2t^2 \ln^2|t| \end{aligned}$$

or

$$\frac{x dx + y dy}{(x^3 + x - xty) + xty + xy^2} = \frac{dt}{xt}$$

$\bar{z} = \bar{z}$

$$\frac{\frac{1}{2} d(x^2 + y^2)}{x^3 + x + xy^2} = \frac{dt}{xt}$$

$$\frac{d(x^2 + y^2)}{x^2 + 1 + y^2} = \frac{2 dt}{t} \quad (\bar{z} = x^2 + y^2)$$

$$\frac{d\bar{z}}{\bar{z} + 1} = \frac{2 dt}{t} \Rightarrow \ln|\bar{z} + 1| = 2 \ln|t| + C_2$$

$$\underline{x^2 + y^2 + 1 = t^2 C_2} \quad (6)$$